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JolgsJl Factors
Find the GCF of 15 and 18. GCF _.s¥) daiall Jalal) aagf

.18 15 (uazll

\9&\;4\ /3 /S/ )
\?&\)5-%\/ 2, 3,6,9,)2
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Write the ratio that compares the sall a1 o 45)\Ral) Jia A Al s

The Ratio duwudll number of pens to the number of .5 guar o A paba) D )
] pencils in simplest form.

JI"HE

11072 1

1 6t = /»f(")'(’l pS
¢ 86 8 :(IPW/)," ,,| pys,
- s

= 3.4
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Unit Rate 3.>¢J| Jaso

Muneera divided 40 liters of paint e 8 Ao oMl (e 1 40 §uia Ciaud
among 8 containers. How much caule S @ Ml jlaka Ay aS

paint is in each container?

/| Llr 0 2(_
ide gs A o N
a. 1,. . . : I:
3 liter in each container
NS O oS |
X e K Aalag . O

8 liters in each container
e J€ 411320 ! [
© 320 rtgA in each contai )C O X /1‘ =
iters in each container —
e 2

5 liters in each container/
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Ratio Tables . To make cranberry jam, you GBS 12 ) pliad (Gl @gill (54 pual
need 12 cups of sugar for every Al aagl (gl gl a ws€ 16 SISl
16 cups of cranberries. Find the (S gl e lgst 4 I Aad) Sl

amount of sugar needed for

=Yy
4 cups of cranberries. /‘\

Sugar (c) (2 _,.t....n (c) . 12 _ _ 3 ‘
Cranberries (c) |¢ 4 g gl (c) 16? 4 ‘
, . i _ ——
=4
a 4
b. 8 .
FREA Y
¢ 6
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Equivalent Ratios disSieJl il
Determine the pair of equivalent

ratios or rates.

bakd 20 Jilia AED 8 ¢ Slki 6 Jlia AED 3
AED 3 for 6 bagels; AED 8 for 20 bagels

. g Dlas iS7 Jilda AED 28 ¢35 iy i€ 3 Jilia AED 12
" JAED 12 for 3 paperback books; AED 28 for 7 paperback books
Bl Uagd 120 jlaay dads 48 ¢5)ladl hagd 30 jLaay 4ads 15

15 minutes to drive 30 laps; 48 minutes to drive 120 laps

AED 45 i Jac clelw 9 ¢ AED 12 Julia Jae clela 3
3 hours worked for AED 12; 9 hours worked for AED 45

Ay el gl el a5 (8 2as

)

)

\-
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Number of There are 810 Calories in 3 scoops O @ da3 2 s Sl 810 24

of vanilla ice cream. How a:g)ba.“ Gl aae oS Llilal) cilalia

o - e A e se s e
iz Many Calories are there in 7 scoops Flalildll clalia e (383 7 A o.;é.}‘_n
270 Caleries  of jce cream?

3:1)1):;5)“383

b. 38; Calories 5_/€f 8‘ o P 7(

N - yd

s 525,670 (:9_5/1« } >< /\95% A C

5,670 Calories

Lls 52 1,890
Q> 1,890 Calories ? ( (L] X ? —

1
N
N
G
AN
+)

X
R
o

@)
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The decimal sl >asll

Write 2—1;15 a decimal. (G A3 B gea u&% iy

215.0 32 X 5 C
25 X 5

b 1.5 —

. 0.20 1D: / 5 -
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The percentage 4 gioJl duwdl

Write 0.1 as a percent. Aogia duud s jga b (.1 S
b.0.01% \O —

loO
¢ 1% —

4.0.1% — \O / -
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Order <
51 ; 51
The order wuiyil 0.55,20%, -, 0.55,20%, >
from least to greatest. DS A sl e
1 5
a. 0.55,5,20%,3 -
Q 20%,%,0. ss,g ) -
c 20%,;,0. 55,% O

d. 0.55,20%,

’

N =
N
M
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Estimate 47% of 118. 118 e 47% L3

\Le «x 503/

275 C
b. 50 —
) _ 200X B -
5 : \o o
d. 60 —
=RLNR X 5
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What expression can be used to oAlaa) alay) B daladin) Saall il L
~2J| Discount find the total discount? aaddl

(Do -
o 3-42 M\/\JL _ ((&I:V\) % (!10/-/) A A T =

¢ 30x42

= 30 U x G2

N

d 0.03x42 C

Ilﬂ

- 0.3 X = &
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4 gloJl dwidl Percent

120 is 30% of what number? 120 Syl 4a 30% (53} 2aad) La
3w '20 ( iy
v& /\ ' N Q, "\ e
a 40 . - = ~ —
] 1
Q 400 Z = o X viw ‘ x4 C
l .
¢ 36 ‘J-’AI;’&\ C
£ - koo
d 360 —
|
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dyCNsJl XlacSJl 2,bg o> Add and Subtract Decimals
Ahmad is creating a video. The first aia Jo¥) giall . gaad adaia oLail daal A8
video clip was 22.36 minutes long. culs ‘3,.'.1.‘.5\ giallg Aids 22,36 Aisa cuils
The second video clip was Salasly guaidl) Saa aS 4284 17,02 ddsa
17.02 minutes long.
What is the total length of the video?

22.3¢
a.39.56 _k \q.Q‘L

39-3%

b. 38.39

B

d.5.34
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algdl paa5 Estimate Products

Estimate 42.6 x 37.2. 42,6 x37.2 %
b3 x37

a 42x38

( b. 43 x37 >

¢ 43x38

d 42 %37
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IS dae o SENe dae uco Multiply Fractions and Whole Numbers

Find 4 x 0.012 4x0.012 gl 2
W A e-o)<
a  0.084
FEVR YA
b, 4.08
¢ 0.48 %
0.0

G
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JaeSJl douwsd Divide Numbers

Find 768 + 8. 768 + 8zl 1l
96
= | -
- o\ 763 O
| - 712 .
D 43 <
- uf Q
« 91 oV O/
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dyCNsJl XlacSJl douns Divide Decimals

Hind bought 5. 75 yards of fleece Ayall Giladll a s»@a il
fabric to make blankets for a o gLl Ay cdapd daaad Gl pial
charity. She needs 1.85 yards of e af L duillay J<bGladl) (ha 84)@
fabric for each blanket. How many aladiul lgria aigd (Sas Al ciluilal)
blankets can Hind make with the faad) (g3l gl
fabric she bought?

5. :{3 =\ :65
a 5.75+18.5

S¥S -1%S

b. 57.5+1.85

<575+ 18.5

( d575+185 :
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)9uSJl wco padi Estimate Products of Fractions

Estimate:

5 9
_x_
8 10

HPYLY i | FENEWN |
5 9
g X 10
_5- (
= R 7
ko'
9~
o -
S 9
s 5 x 2
ral %
g \
~’ ’5’ X
A
2
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)gu8Jl Fractions

A cat spends 2 of its life asleep. If
a cat lives to be 15 years old,

how many years does it spend

asleep?
a 15= _%_ ( \/‘7
o AL
b.5
¢ 14 < = 2 )( \5
ES
Q)lﬂ
' —_ " — C
p— P K >

13) . agil) b A8kt @il ‘;,Ag Akl call
dale 15 saad) (o 30 s daad ddadl) culs
Tagill A ABjiina Lgnalii ) plgel) sas ash
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dJ¢NSJl »laeSJl uco Multiply Fractions

Find % x 1 g. Write in simplest form. RPT-p pPLEE % X 15 i paal
T
a 17—0 _Lf’_ 7( l <
5 c <

R
10 \

, — 3
@ =% 2
2 gl %
2

60 !

)

|




